Precalculus Chapter 3 Review Name }( e/J/

Show all work to get any possible partial credit.

1.) Identify the asymptotes and intercepts for the following functions. If they don’t exist, write NONE.
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2.) How much is the account worth after 7 years if $3560 was invested in an account that earned 4.75%
compounded a.) monthly?  b.) continuously?
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3.) How much interest was earned in the account from question #2 when it was compounded monthly?

H760.9¢- 2560 3.)#/ Y00.9%

4.) Write the logarithmic equation in exponential form or write the exponential equation in logarithmic
form. Cirele your answer.
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5) Suppo;hlgg*z_rz; log 5=2.7, and log, 7=3.2, use this information to find the value of
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6.) Use the properties of logarithms to combine the following expressions into one logarithmic

expression.

a)3lnx+21ny\ Sinz b.) Inx — 21n(x+2)
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7.) Solve for the variable. Put all answers on the right. Show all work for possible partial credit.
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8.) Suppose the height % (in feet) of a tree at age ¢ (in years) is A= 120 3
142007 H/ 2
a.) What is the height of the tree when it is 10 years old? a) (-~ 7 S
b.) What is the height of the tree when it is 50 years old? _ b) 112 93’
c.) At what age is the tree that is 103 feet? (round to four decimals) / gg'
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9.) The radioactive isotope Hartlandium decays according to formula:
H(t) = Ho(O. 5)”3 % | where H, is the initial amount of the isotope and ¢ is the time in days.
What is the half-life of Hartlandium (in days)?
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10.) Suppose you are driving your car when it is 20" F outside and your engine overheats at 220°F.
When you park, the engine begins to cool down. The temperature 7 of the engine ¢ minutes after you
park satisfies the equation, ln(T——zoj =-0.11z.
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